183.7

. 1842

~.180.1

184.283¢" N ] N 183.86 247-RVI

- \:‘\ N, -
5 N W17 2+478.49 ]
Z = 7 182.9
B
 183.96
182582
A
L Wigs <5693044.70
5 ~y-7518754.02
I N
183.94 W18 2+541.92
R=50
&=18.89 g
Iy 183.67 [ o Q¢ W19 2+567.78 1825
16390 T=747m RE100
) D> 3 .
£=14.84 m C;\Qr 4=13.339 2111
\l‘q’x Ws=0.55m
& T=10.51m
£=20.94m
830
20= X-5693000.04
=y-7518788.15
.y
& Wig= X-5693022.54
y-7518767.28
183.6 %
-
1833 897
W20 2+598.43
O
R=200 X
&=9.33 ¢
@ Ws=0.54 m
T=14.68m
£=29.31m
. 1838
261-RVI

W21 2+710.49
&=1.44g

- 1835

W21=

y-7518851.32
+181.3

W22 2+756.96
&=0.778 g

- 1834
5.2-778/2
. 183.1
_ _x-5692870.16
-1833 W22= ~ 7518878.43
W3- X5692829.60 -182.0 1819
- 1831 y-7518908.33 W24 2+838.06 ; {, 7.1-157/2
R=500 4 1820
5'2_77983‘4 &=1.556 g
Ws=0.04 m
,5»;96 T=6.11m - 1815
£=1222m
'1830 W23 2+807.32 Ry W25 2+866.24
RS
. 1832 R=300 R=200
.2-780
5.2-78012 &=6.119 A 8=8.11¢g
Ws=0.35m 33 Ws=0.41 m
T=14.41m T=12.76 m
t=25.48m/
5.2-780/1 1816
<1817
A
- 182.8 R
s W26 2+902.57
9
R=500
182.2 183
&=5.8899 ;
W25= Ws=0.54 m
= ./1.1-612
T=23.14m s
7.1-462/1 | £=4625m |
1817
-182.6
7.1-159
7.1-157/1
" 1815
7.1-462/2

181.8

W27 3+030.59

7:4:283
1284

82

1285

7.1-76/3

<286

1-290

/1819

T1R12

142

4

71128 1

11819

.180.7

/181.7
1614



